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1. Please solve the following ordinary differential equations.

(a) y+xo=x", y(0)=3 (10%)

(b) »'+2y' +35y=25t-108(t-x), y(0)=-2, y'(0)=5 (15%)

(&) y'=3y'+dy-y=e —x-l (10%)

2. Integrate eounterclockwise around the circle: |F:' = 3| =12 (10%)
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3. Find an eigenbasis and diagonalize. (Please show the details.) (10%)
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4. Evaluate the surface integral [[, (VX F)-TidA  directly for the given F and §.

F=[e¥ e2eX], Siz=x" Usx<2 0<5ps2 (15%)

5. Please use the Fourier cosine integral of f7x) to calculate the Fourier cosine

transform. (Please show the details) (15%)
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6. Find the transient solution and the steady-state solution of the initial value
problem for the RLC-circuit with the given data. (15%)
R=9Ck, L=05F, C=01F, E=100sK2 &)
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